PLOTTED: Wednesday, September 02, 2015 4:49:19 PM

1" PIPE

BRACING SCH.—\

1/2 X 3 3/4
KWIK BOLT I

(TYP. OF Z)W

40

RISER PIPING

TOLCO FIG 110 U—BOLT W/ (4)
HEX NUTS OR TOLCO FIG. 1000
SWAY BRACE ATTACHMENT

+ 2'-0"

,—TOLCO FIG 980
UNIVERSAL SWAY
BRACE

3/8"x

WELDED ON BOTH

NOTE: REFER TO
HANGER GENERAL
NOTES FOR HANGING
REQUIREMENTS

/ SEE

<

DETAIL HANGER #5 TYPICAL

TRAPEZE MEMBER

TRAPEZE PIPE SIZING

o

6” ROD

\OPEN WEB
jUL STEEL
TRUSS

ROD LENGTH[ ®
S

\

3/8” ATR FOR
2°—4" PIPE

HANGER RING

EE PLAN

MAIN PIPE DIAMETER| 2 %" 3 4

TRAPEZE PIPE DIAMETER AND PIPE
} TYPE

g 2-1/2" | 2-1/2" | 2-1/2" | 2-1/2"

M 8-0 SCH.10 | SCH.10 | SCH.10 | SCH.10
L P p . .

Lo | o 2-1/2" | 2-1/2" | 2-1/2" | 2-1/2

<Z SCH.10 | SCH.10 | SCH.10 | SCH.10
A 60" 2" 2" | 2-1/2" | 2-1/2"

SCH.10 | SCH.10 | SCH.10 | SCH.10

ATR. SIZE 3/8" | 3/8" 3/8" 3/8"

.j”[i. NOTE: ONLY ATTACH TRAPEZE HANGERS
WITHIN 0'—6" OF THE TOP OF ANY TRUSS

OR JOIST PANEL POINTS AT 15'-0" O.C.

OF LINE PIPING**

MAXIMUM. **DO NOT LOCATE WITHIN 2’-0"

SUPPLY AND RETURN
AIR PLENUMS FROM
ROOFTOP UNIT

ROOFTOP UNIT

HANGER #20

TOP BEAM BOTTOM OF
CLAMP ROOF DECK
\ \ __— ROOF DECK
N BRANCH LINE\ —— —F—
= ]
= JOIST TYP o8 )
<C
= BRANCH LINE i — JOIST
/ = P
ﬂ 7 PIPE HANGER )—k
T 1 1 ] \
é@ ]
| - HANGER | [ L MINIMUM 1—1/2 L = h
RING INSTALL SPRINKLER SuppLY 10
SPRINKLER o AL SPRINKIER SPRINKLER
UPRIGHT SPRINKLER TO MATCH

BOTTOM CHORD OF
PROVIDE FLEXIBLE SPRINKLER TYPE AT ROOF DECK

5 (2" THRU 4” PIPING)

NTS

NOTE: INSTALLATION SHALL BE
COORDINATED WITH THE ROOFING

CONTRACTOR PRIOR TO THE INSTALLATION
OF THE CORRUGATED METAL DECKING. IT
IS RECOMMENDED THAT THE PIPING BE
INSTALLED AFTER DECKING IS IN PLACE,
TO AVOID CONFLICT.

SEE PLAN ROD
LENGTH

TOP BEAM CLAMP

\3/8" ATR. FOR 1"-4" PIPE

HANGER RING

2 IN_TISA N G E R # 5 NOTE: REFER TO

HANGER GENERAL
NOTES FOR HANGING
REQUIREMENTS

3" EXTRA HEAVY HANGER RING
WITH 1/2" ROD BUTTON.
(AFCON FIG. 303 OR EQUAL)

10"
1%

3/8"x 6" ROD

WELDED ON BOTH
ENDS OF TRAPEZE
PIPE

NOTE: REFER TO
HANGER GENERAL
NOTES FOR HANGING

SEE ALTERNATE VIEW TOP CHORD OF OPEN-WEB

DETAIL AT RIGHT \ STEEL JOIST

o
e

TRAPEZE
d I / MEMBER

ROD LENGTH
SEE PLAN

\ OPEN WEB STEEL
TRUSS
JL /2L-6

T~ 1/2" ATR FOR 6"-8" PIPE

/ HANGER RING

RN |

1/2 L + 6"

L

T HANGER #20

5 (6" & 8" MAIN PIPING)

NTS

LOCK WASHER

1/2" NUT W/
1/4x 2’x 2" X—HEAVY SQUARE WASHER
(AFCON FIG. 962 OR EQUAL)

. , (TP OF 2) TRAPEZE PIPE SIZING
H MAIN PIPE DIAMETER 6" 8"
" TRAPEZE PIPE
1/2" ALL THREAD DIAMETER AND TYPE
e 3’ 3"
z §-0 SCH.10 | SCH.40
e 3" 3
5 7:_071
TRAPEZE PIPE — SCH.10 | SCH.40
H 6’_0" 3” 3"
o SCH.10 | SCH.40
& 40 2% 2%
SCH.10 | SCH.10
AT.R. SIZE 1/2" 1/2"
3" EXTRA HFEAVY HANGER RING NOTE: ONLY ATTACH TRAPEZE HANGERS WITHIN 0'-6" OF THE

TOP OF ANY TRUSS OR JOIST PANEL POINTS AT 6'-0" O.C.
MAXIMUM. ** DO NOT LOCATE WITHIN 2'-0" FROM LINE
PIPING **

WITH 1/2” ROD BUTTON.
(AFCON FIG. 303 OR EQUAL)

JOIST

12} -YPICAL PIPING

NOT TO SCALE

COUPLING

@ IN‘\:STU SPRINKLER DROP

OPTION "A” INSTALLATION PROCEDURE

SECURE TO CONCRETE
SLAB ABOVE

\

DROP IN ANCHOR

3/8” ATR. FOR 1"-4" PIPE
1/2" AT.R. FOR 6"-8" PIPE

HANGER RING

#8

2} HANGER

NTS

NOTE: REFER TO
HANGER GENERAL
NOTES FOR HANGING
REQUIREMENTS

Q—»
2—-1/2" THREADED
PIPE WITH
ADJUSTER

FASTENERS (4) 5/8" 3" PIPE SCH. 40
x 4-3/4" QUICKBOLT
\ /3” FLOOR FLANGE
FF Y

PIPE STAND

HANGER # 21 e ceiena

PIPE SADDLE WITH
U-—BOLT

NOTES FOR

NTS

HANGING
REQUIREMENTS

MAIN —

1" GLOBE VALVE

[ SIGN W/CHAIN

1" PLUG AUXILIARY DRAIN

1. CORE DRILL 2 1/2” DIAMETER HOLE IN THE FREEZER/COOLER INSULATED
CEILING PANEL. LOCATE HOLE AND REQUIRED SPRINKLER PROTECTION
IN ACCORDANCE WITH NFPA 13 OBSTRUCTION CRITERIA (SSP TYPE
SPRINKLERS). MAINTAIN 6” CLEARANCE FROM COOLER SEAMS.

2. INSTALL DRY PENDENT SPRINKLER PER MANUFACTURERS INSTALLATION

REQUIREMENTS.

5. COMPLETELY FILL ANNULAR CEILING OPENING BETWEEN THE ESCUTCHEON AND
TOP OF CEILING PANEL WITH OPEN—-CELL POLYETHYLENE FOAM BACKER ROD.
EXPANDED FOAM IS NOT PERMITTED.

4. INJECT DOW CORNING 739 PLASTIC ADHESIVE SEALANT INTO AND AROUND

THE TOP OF THE FREEZER/COOLER CEILING CORE OPENING IN ACCORDANCE
WITH SEALANT MANUFACTURERS INSTRUCTIONS

SUPPLY FROM WET
PIPE SPRINKLER SYSTEM

TEE WITH PLUG

OPTION "B” INSTALLATION PROCEDURE

CEILING PANEL FROM BELOW.

1. CORE DRILL 2 1/2" DIAMETER HOLE IN THE FREEZER/COOLER INSULATED
LOCATE HOLE AND REQUIRED SPRINKLER
PROTECTION IN ACCORDANCE WITH NFPA 13 OBSTRUCTION CRITERIA (SSP
TYPE SPRINKLERS). MAINTAIN 6” CLEARANCE FROM COOLER SEAMS.

2. INSTALL TYCO DRY PENDENT SPRINKLER PER MANUFACTURERS INSTALLATION
REQUIREMENTS. INSERT BOOT PRIOR TO MAKE—UP WITH PIPING.

3. COMPLETELY SEAL INTERFACE BETWEEN BOOT FLANGE AND TOP OF

FREEZER/COOLER PANEL WITH ADHESIVE PROVIDED WITH BOOT IN
ACCORDANCE WITH MANUFACTURERS INSTRUCTIONS.

4. APPLY STRAP TIES ON BOOT AROUND DRY SPRINKLER BARREL PER
MANUFACTURERS INSTRUCTIONS.

SUPPLY FROM WET
PIPE SPRINKLER SYSTEM

TEE WITH PLUG

DRAWN BY: WDK
REVIEWED BY: FSW

telgian

Telgion # 0009747

D/B/A Fire Group LLC

@ ,NAT\SUX. DRAIN DETAIL

SIDE BEAM
BRACKET \ [
TOLCO FIGURE 58

OR EQUAL

= |

b

TS HEX BOLT, WASHER, NUT
3/8” BOLT FOR 1" — 2" PIPE
L 1/2" BOLT FOR 2 1/2" — 4" PIPE

FENDER WASHER IS REQUIRED

\ 3/8" A.T.R. FOR 1"—4" PIPE

_.—— PIPE RING

TYPICAL FOR ALL PIPING IN TOWERS AND CANOPIES

WHERE HANGING TO LIGHT GAUGE STRUCTURAL MEMBERS

2 HANGER #15

NTS

NOTE: REFER TO
HANGER GENERAL

QUICK BOLT u/@ /HANG

USED ONLY FOR PIPING 1" TO 3"

TOP VIEW
QUICK BOLT Il FOR 1”—=2" PIPING,
§ AND SPLI
B SPLIT
RING
SIDE_VIEW HANGER

4

SPLIT

FOR 2—-1/2"-3" PIPING,
USE 1/2" X 2-3/4" QUICK BOLT

USE 3/8” X 3" QUICK BOLT AND
SPLIT RING HANGER

NOTES FOR
HANGING
| REQUIREMENTS
RING
ER

T RING HANGER

g - HANGER

NTS

# 17 @ NCTISOMF’ACTOF\’ SPRINKLER

#17 HANGER

TOP OF MINIMUM 4"

COMPACTOR N\

DRY SIDEWALL

SPRINKLER W/ HEAD

GUARD

ROOF

TYPICAL PIPE

AN 1L 90 ELL

17 TEE
| 1” PLUG

HANGER (SEE PLAN)

\¥ TRASH CHUTE OPENING

M

1” DRY ?2 NYLON STRAP TIES
SPRINKLER DROP (INSTALL OPPOSITE DIRECTIONS)

1" DRY
Lo SPRINKLER DROP
SSE$IE_TCI:-|EY|_I_LENE * PLASTIC ADHESIVE \ TYCO RUBBER SEAL
T M -
POLYETHLENE /BOO ODEL DSB-2
FREEZER/COOLER FREEZER /COOLER SEALANT PER BOOT
/CEILING CEILING — MANUFACTURER
== TYCO DS—1 MODEL TY3255 DRY —: TYCO DS—1 MODEL TY3255 DRY
.W/./ PENDENT SPRINKLER W/ _@/ PENDENT SPRINKLER W/
401 TYPE ESCUTCHEON 401 TYPE ESCUTCHEON
OPTION A (RECESSED AT FLORAL COOLER) OPTION B (RECESSED AT FLORAL COOLER)

NOTE: CONTRACTOR TO SEAL DRY PENDE

NT SPRINKLERS AT FREEZER/COOLER USING ONE OF THE OPTIONS ABOVE.

14 FREEZER/COOLER DRY PENDENT SPRINKLER

NOT TO SCALE

CONSULTANTS

DOOR
\

DOOR TRACK \

SIDEWALL HEAD

| —
SPRINKLER GUARD\/Q%

/ BRANCH LINE

CEILING

SEE SPRINKLER LEGEND / \
FOR ESCUTCHEON TYPE DRY PENDENT

REF FP1 SPRINKLER

1. INSTALLING SPRINKLER CONTRACTOR SHALL EXERCISE CAUTION
WHEN FILLING SPRINKLER SYSTEM PIPING WITH AIR OR WATER TO
MINIMIZE HORIZONTAL THRUST AND UNDUE LATERAL FORCE.

2. ANY DEVIATIONS AND CHANGES MUST BE BROUGHT TO THE
ATTENTION OF THE FIRE SPRINKLER CONSULTANT AND THE
STRUCTURAL ENGINEER IN WRITING BEFORE CHANGES ARE MADE.

3. NO PIPE HANGER SHALL BE ATTACHED TO INTERMEDIATE
SUB—-PURLINS OR ROOF DECK.

4. ALL HANGERS TO BE ATTACHED TO THE TOP CHORD OF
STRUCTURAL MEMBERS UNLESS DETAILED OR NOTED OTHERWISE.

OWNER

THE KROGER CO. OF MICHIGAN

NOTE: HANGER SUPPORT ROD IS NOT
TO BE SUPPORTED FROM THE DOOR
TRACK. HANGER ROD MUST BE
SUPPORTED FROM ROOF STRUCTURE

@ IN'\:SOLL—UP DOOR

FOR DRY PENDANT SPRINKLER
AT FRONT CANOPY

@ IN?SRY PENDANT

HANGER GENERAL NOTES

ISSUE/REVISION 7/02/2015
90% KROGER REVIEW
7/16/2015
100% BID/PERMIT ISSUE
8/31/2015
BULLETIN 3
PROJECT TITLE
EXPANSION/REMODEL

D-361

425 N. CENTER STREET
NORTHVILLE, MI 48167

COMMISSION NO. 15100

ISSUE DATE 7/16/2015

SHEET TITLE

FIRE
SPRINKLER
DETAILS

SHEET NO.

FP4




